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Ê√è¬ı˛œ øÚÀ«√̇  / IMPORTANT INSTRUCTION 

 

’±·√±˜œ  ø˙é¬±¬ı¯∏±«ôL ¬Û¬ı˛œé¬±˚˛ ( T.E. Exam.) ÚÓ≈¬Ú ¬ı…¬ı¶ö± ’Ô±«» õ∂ùü¸ √̋√ Î¬◊M√√¬ı˛ ¬Û≈øô¶fl¡± (QPAB) õ∂¬ıÓ«¬Ú fl¡¬ı̨± √̋√À¬ıº 
¤ ◊̋√√ ÚÓ≈¬Ú ¬ı…¬ı¶ö±¬ı˛ ¸±ÀÔ ¬Û¬ı˛œé¬±ÔπÀ√¬ı˛ ’ˆ¬…ô¶ fl¡¬ı̨±¬ı˛ Ê√Ú… ¬ıÓ«¬˜±Ú ’Ú≈˙œ˘Ú ¬ÛÀS õ∂øÓ¬øÈ¬ õ∂Àùü¬ı˛ øÚÀ«√̇  ’Ú≈˚±˚˛œ øÚø«√©Ü 
¶ö±ÀÚ ◊̋√√ Î¬◊M√√¬ı ̨ø√ÀÓ¬ √̋√À¬ıº 

New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the         

coming Term End Examination. To get the candidates acquainted with the new system, 

now assignment answer is to be given in the specific space according to the instructions. 

Detail schedule for submission of assignment for the 
BDP term End Examination December-2019 & June 2020 

1. Date of Publication : 14/02/2020 

2. Last date of Submission of answer script by the student to the study 
centre 

 
: 07/03/2020 

3. Last date of Submission of marks by the examiner to the study centre : 08/04/2020 

4. Date of evaluated answer scripts distribution by the study centre to 
the students (Students are advised to check their assignment marks 
on the evaluated answer scripts and marks lists in the study centre 
notice board. If there is any mismatch / any other problems of marks 
obtained and marks in the list, the students should report to their 
study centre Co-ordinator on spot for correction. The study centre is 
advised to send the corrected marks, if any, to the COE office within 
five days. No change / correction of assignment marks will be 
accepted after the said five days. 

 
 
 
 
 
 
 
 
: 18/04/2020 

5. Last date of submission of marks by the study centre to the 
Department of C.O.E. on or before 

 
: 20/04/2020 

 
 
 
 
 
 
 

¤‡±ÀÚ øfl¡Â≈√ ø˘‡À¬ıÚ Ú± 
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ø¬ıˆ¬±· - fl¡ 
Group-A 

1. Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 
 Answer any two questions : 
  A. (a) ¶ç≥¡¬Û [skraup] ¸—Àù≠¯∏Ì ¬ÛXøÓ¬ õ∂À˚˛±· fl¡À¬ı˛ øfl¡ˆ¬±À¬ı fl≈¡˝◊√√ÀÚ±ø˘Ú õ∂dÓ¬ fl¡¬ı˛± ˚±˚˛ Ó¬± ø¬ıøSê˚˛± 

Œfl¡Ã˙˘¸˝√√ Î¬◊À~‡ fl¡èÚº  
   Mentioning reaction mechanism describe the preparation of quinoline 

applying skraup synthesis. 
  (b) Ú±˝◊√√À¬∏C±À¬ıø?Ú ŒÔÀfl¡ øfl¡ˆ¬±À¬ı 2, 4, 6-¬∏C±˝◊√√À¬ıË±À˜±Ùv≈¬›À¬ı˛±À¬ıø?Ú ¸—Àù≠¯∏Ì fl¡¬ı˛À¬ıÚ ∑ ¬ı˛±¸±˚˛øÚfl¡ 

ø¬ıøSê˚˛±&ø˘ Î¬◊À~‡ fl¡èÚº 5 + 5 
   How would you synthesize 2, 4, 6-tribromofluorobenzene ? Give the 

chemical reactions. 
 B. (a)  ø¬ı˛Ù¬¬ı˛˜…±È¬ø' ø¬ıøSê˚˛± ¬ı…¬ı˝√√±¬ı˛ fl¡À¬ı˛ 

  

! 

Ph"CH = C (C
2

H
5

)COOH  Œ˚Ã·øÈ¬¬ı˛ ¸—Àù≠¯∏Ì ø˘‡≈Úº ¤˝◊√√      
¸—Àù≠¯∏ÀÌ øÊ√ÀÇ¬ı˛ ¬Ûø¬ı˛¬ıÀÓ«¬ Œfl¡Ú ˜…±·ÀÚø˙˚˛±˜ ¬ı…¬ı˝√√±¬ı˛ fl¡¬ı˛± ˚±˚˛ Ú±, Ó¬± ¬ı…±‡…± fl¡èÚº 

    Use Reformatsky reaction for the synthesis of 
  

! 

Ph"CH = C (C
2

H
5

)COOH . 

Explain why Magnesium metal cannot be used in place of Zinc in this 
synthesis. 

   (b) ’…±øÎ¬ø¬Ûfl¡ ’…±ø¸Î¬ ŒÔÀfl¡ 2-ø˜Ô±˝◊√√̆  ¸±˝◊√√Àflv¡±À¬ÛKI◊±ÀÚ±Ú õ∂døÓ¬ ø¬ıøSê˚˛± Œfl¡Ã˙˘¸˝√√ Î¬◊À~‡ fl¡èÚº 5 + 5 
    State with reaction mechanism the preparation of 2-methyl cyclopentanone 

from adipic acid. 

 C. ¸—øé¬5 È¬œfl¡± ø˘‡≈Ú – 
  Write short notes on the following : 
  (a) ’…±˘Î¬˘ ‚Úœˆ¬¬ıÚ ø¬ıøSê˚˛± 
   aldol condensation reaction 
  (b) ¬Û±¬ı˛øfl¡Ú ø¬ıøSê˚˛±º 5 + 5 
   Perkin reaction. 

 D. ¸y±¬ı… fl¡˘±-Œfl¡Ã˙˘·Ó¬ ˚≈øMê√ ¸˝√√À˚±À· øÚ•ßø˘ø‡Ó¬ ø¬ıøSê˚˛±&ø˘¬ı˛ Œé¬ÀS øfl¡ ‚ÀÈ¬ ø˘‡≈Ú – 2
  

! 

1

2
 × 4 

  What will happen in the following   reactions ? Write the proper reaction 
mechanism with justification. 

  (i)  

  (ii)  

  (iii)  

  (iv)  
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õ∂Ô˜ Î¬◊M√√¬ı˛  / First Answer : 
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ø¡ZÓ¬œ˚˛ Î¬◊M√√¬ı˛  / Second Answer : 
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ø¬ıˆ¬±· - ‡¡ 
Group-B 

2. Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

 Answer any three questions : 

 A. (a) Kolbe-Schmidt ¬ÛXøÓ¬ÀÓ¬ ¸…±ø˘¸±˝◊√√ø˘fl¡ ’…±ø¸Î¬ ¸—Àù≠¯∏ÀÌ¬ı˛ Œé¬ÀS Œ¸±øÎ¬˚˛±˜ øÙ¬ÀÚÈ¬ ¬ı…¬ı˝√√±¬ı˛˝◊√√  
Î¬◊¬ÛÀ˚±·œ, ¬ÛÈ¬±ø˙˚˛±˜ øÙ¬ÀÚÈ¬ Ú˚˛º ¬ı…±‡…± fl¡èÚº 

   For the synthesis for salicylic acid using Kolbe-Schmidt reaction, why is 
sodium phenate useful but not potassium phenate ? Explain. 

  (b) ìøfl¡ÀÈ¬±Ú ’…±ø¸Î¬-’Ì≈‚È¬Àfl¡¬ı˛ Î¬◊¬Ûø¶öøÓ¬ÀÓ¬ Œfl¡¬ı˘ ¤fl¡fl¡ ˝√√…±À˘±ÀÊ√Ú ‚øÈ¬Ó¬ Œ˚Ã· Î¬◊»¬Ûiß fl¡À¬ı˛îº 
˚≈øMê√̧ ˝√√ ¬ı…±‡…±  fl¡èÚº 4 + 2 

   "Ketone affords only monohalogenated compound on acid catalysed 
condition." Explain with reason. 

 B. øÚ•ßø˘ø‡Ó¬ ¬¬Ûø¬ı˛¬ıÓ«¬Ú&ø˘ øfl¡ˆ¬±À¬ı ¸—‚øÈ¬Ó¬ fl¡¬ı˛À¬ıÚ ∑ 
  How would carryout the following transformations : 

  (a)  

  (b)  

  (c) 
  

! 

CO
2
" # "  CH

3
COOH  2 + 2 + 2 

 C. øÚ•ßø˘ø‡Ó¬ ø¬ıfl¡±¬ı˛fl¡&ø˘¬ı˛ ≈√øÈ¬ fl¡À¬ı˛ ¬ı…¬ı˝√√±¬ı˛ Î¬◊À~‡ fl¡èÚº 
  Mention two synthetic uses of each of the following reagents : 
  (a) 

  

! 

FeCl
3
 

  (b) 
  

! 

CH
3

COOCOCH
3

 

  (c) Na/ether. 2 + 2 + 2 

 D. (a) ì¤fl¡ Ó≈¬˘…±Ç ¤à±À¬ı˛¬ı˛ ¸Àe ¤fl¡ Ó≈¬˘…±Ç ¢∂œ·Ú±Î«¬ ø¬ıfl¡±¬ı˛Àfl¡¬ı ̨¸—˚≈øMê√ ¡Z±¬ı˛± øfl¡ÀÈ¬±Ú ∆Ó¬¬ı˛œ ¸y¬ı Ú˚˛î 
¬ı…±‡…± fl¡èÚº 

   Explain why it is not feasible to prepare Ketone by addition of one 
equivalent of Grignard reagent to one equivalent of an ester. 

  (b) 
  

! 

CH 3MgI  ˚‡Ú 3-Œ¬ıË±À˜±Àõ∂±ø¬ÛÀÚ¬ı˛ ¸Àe ø¬ıøSê˚˛± fl¡¬ı˛±ÀÚ± ˝√√̊ ˛ Ó¬‡Ú øfl¡ øfl¡ ¬Û√±ÀÔ«¬ı˛ Î¬◊»¬Ûiß ˝√√̊ ˛ º 
¬ı…±‡…± fl¡èÚº 

   When 
  

! 

CH 3MgI  is allowed to react with 3-bromopropene then what would 

be the products. Explain.  
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  (c) ¢∂œ·Ú±Î«¬ ø¬ıfl¡±¬ı˛fl¡ ¬ı…¬ı˝√√±¬ı˛ fl¡À¬ı˛ ÚœÀ‰¬¬ı˛ ¬Ûø¬ı˛¬ıÓ«¬ÚøÈ¬ ¸•Û±√Ú fl¡èÚº 
   How would you convert the following transformation using  Grignard 

reagent ? 

       
     3 + 2 + 1 

 E. (a)  

   Î¬◊¬ÛÀ¬ı˛¬ı˛ ø¬ıøSê˚˛±øÈ¬¬ı˛ ø¬ıøSê˚˛± Œfl¡Ã˙˘ ¬ı…±‡…± fl¡èÚº  
   Explain the mechanism of the above reaction 

  (b) øÚ•°ø˘ø‡Ó¬ ¬Ûø¬ı˛¬ıÓ«¬Ú&ø˘ fl¡œˆ¬±À¬ı ¸—‚øÈ¬Ó¬ fl¡¬ı˛À¬ıÚ –  
   How would you convert the following transformations ? 

    (i)  

    (ii) 

 

     3 + 1 + 2 

 F. øÚ•ßø˘ø‡Ó¬ ø¬ıSê˚˛±&ø˘ÀÓ¬ Î¬◊»¬Ûiß ¬Û√±ÀÔ«¬ı˛ ·Í¬Ú ø˘‡≈Úº  õ∂øÓ¬øÈ¬ Œé¬ÀS ø¬ıøSê˚˛± Œfl¡Ã˙˘ Î¬◊À~‡ fl¡èÚº 
  Carry out the following transformations to identify the product(s). Explain with 

mechanism in each case. 

  (i)   

  (ii)  

  (iii)  

    

 2 × 3 
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õ∂Ô˜ Î¬◊M√√¬ı˛ / First Answer : 
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ø¡ZÓ¬œ˚˛ Î¬◊M√√¬ı˛ / Second Answer : 
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Ó‘¬Ó¬œ˚˛ Î¬◊M√√¬ı ̨/ Third Answer : 
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ø¬ıˆ¬±· - ·¡ 
Group - C 

3. Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12 
 Answer any four questions : 
 A. øÚÀ•ß¬ı˛ ø¬ıøSê˚˛±˚̨ Î¬◊»¬Ûiß ¬Û√±Ô«øÈ¬ Œfl¡Ã˙˘¸˝√√ ø˘‡≈Ú –  
  Predict the product of the following reaction with suitable echanism : 

 
 B. fl≈¡˝◊√√ÀÚ±ø˘ÀÚ¬ı˛ 2-¤¬ı√— 4-’¬ı¶ö±ÀÚ øÚÎ¬◊øflv¡›øÙ¬ø˘fl¡ õ∂øÓ¬¶ö±¬ÛÚ ‚ÀÈ¬ º fl¡±¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº 
  Nucleophilic substitution reaction takes place at 2-and 4-positions of 

quinoline. Explain with reason. 
 C. øÚ•ßø˘ø‡Ó¬ ¬ı˛+¬Û±ôL¬ı˛øÈ¬ ¸•Û±√Ú fl¡èÚº  
  How would you carryout the following transformation ? 

         
 D. øÚ•ßø˘ø‡Ó¬ Œ˚Ã·&ø˘¬ı˛ Œé¬ÀS øÚÎ¬◊øflv¡›øÙ¬ø˘fl¡ ¸øSê˚˛Ó¬±¬ı˛ Ó≈¬˘Ú± fl¡èÚº 
  Compare the rate of reactivity of nucleophile towards the following compounds. 

          
 E. ìŒÙ¬Ú˘ ¤Ú˘ ’¬ı¶ö±˚˛ ¶ö±˚˛œ øfl¡c 1, 3, 5-¬∏C±˝◊√√̋ √√±Î¬◊Î¬ø'À¬ıø?Ú øfl¡ÀÈ¬± ’¬ı¶ö±˚˛ ¶ö±˚˛œºî fl¡±¬ı˛Ì¸˝√√ ¬ı…±‡…± fl¡èÚº 
  "Phenol is stable in enol form but 1, 3, 5-trihydoxy benzene is stable in keto 

form." Explain with reason. 
 F. øÚ•ßø˘ø‡Ó¬ Œ˚Ã·&ø˘¬ı˛ Œé¬ÀS øÚÎ¬◊øflv¡›øÙ¬ø˘fl¡ õ∂øÓ¬¶ö±¬ÛÚ ø¬ıøSê˚˛±¬ı˛ ˝√√±¬ı˛ Ó≈¬˘Ú± fl¡èÚº 
  Compare the rate of nucleophilic substitution reaction of the following 

compounds. 

 
 G. øÚÚ˝√√±˝◊√√øEÀÚ¬ı˛ ¸±ÀÔ ¢≠±˝◊√√ø¸ÀÚ¬ı˛ ø¬ıøSê˚˛±øÈ¬ øSê˚˛± Œfl¡Ã˙˘¸˝√√ ø˘‡≈Úº 
  Write the reaction with mechanism between Ninhydrin and Glycine.  
 H. øÚ•ßø˘ø‡Ó¬ ¬ı˛+¬Û±ôLÀ¬ı˛¬ı˛ Œé¬ÀS Î¬◊¬Û˚≈Mê√ ø¬ıfl¡±¬ı˛fl¡ øÚ¬ı±«‰¬Ú fl¡èÚ ¤¬ı— ø¬ıøSê˚˛±¬ı˛ øSê˚˛±Àfl¡Ã˙˘ ¬ı…±‡…± fl¡èÚº 
  Select the appropriate reagent for the following transformation and also explain 

the reaction mechanism. 
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õ∂Ô˜ Î¬◊M√√¬ı˛  / First Answer : 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ø¡ZÓ¬œ˚˛ Î¬◊M√√¬ı˛  / Second Answer : 
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Ó‘¬Ó¬œ˚˛ Î¬◊M√√¬ı ̨ / Third Answer : 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

‰¬Ó≈¬Ô« Î¬◊M√√¬ı˛  / Fourth Answer : 
 

 
 
 
 
 
 
 
 

 
 


